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(Please read carefully)

The question paper has Three Sections
viz. Part - A, Paft - B and Part - C

Max. Marls: 10O Marks
(Part-A : 4O Marks + Paft - B: 35 Marks + Paft - C: 25 Marks)

Answer must be marked on OMR sheets (with blaclVblue ball-point/sketch pen)

llme: 2 hours

While answering Part - A,
students have to select only one of the following:

Part - A: Hindi (pages 1 to 4)
Part - A: Language Sciences (pages 5 to 8)
Pad - A: Telugu (pages 9 to 13)
Paft - A: Urdu (pages 14 to 16)

Palt - B and Paft - C are compulsory.
(pages L7 to27)

There will be negative marking of 0.33 for every
wrong answer in Patt - A.

There is no negative marking for Paft - B and Palt - C,
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FfiT-drd haftqrf,q
University of Hyderabad

IMA (Hindi), Entrance Examination, Feb. 2013

Part - A, Objective type question
(Question 1 to 40)

HallTicket No. Max. Marks: 40

Note : Please answer the questions only on OMR sheet provided to you .

ffifu-a cfit fr fr r-nfi c,?T +'qR-qK tr-trdrr ftd rr{ t, ffi +t$ t'o s€r s-+t t. lrfr-r*t
q{6,, 3TfrT +t ovn sheetrK ftFa +t t

I

t qsq+3rdfi€Et-
(A)q{lffRt (B) cl-{qFl (c) q{nr* (D) TqFl

2 ffi qr dfrffiq t
(a)i-s+{R (e)tfl+ftR (c) fsI+{R (o) fE+Ffr

3 'ardqr fuo rart ml arq F --
(A) t.6 (B) dttrrn (c) d?r5-6 (D) F-rA S En$ afr

4 ,3td fr s-{ftF dE 6td_fr t
(A) F+r €tu (e) T'I Titu (c) 3rqTR dtu (D) q6 Titu

5 'dE{a' ?lEa d *t-o-gl gqrg t
(A) g-6 (B) GX (c) 1iEiq (D) sf,frtr

6 ffifua fr t 61-4-* srq G"qr-Ealqur t t
(A) Wifqq (B) trn- (c) Frrrf, (D) efit-efrt

7 Faqfrfua fr t +ta-* lrq atfrar++ €ar att F I
(A) gq{ (B) a-drn (c) Eriln (o) raq

8 ffifua fr' t +ta-sr ereE dqfuErqm'S-ar t I
(A) 4rq (B) T{f,r (C) c-dr5 (o) :nq

9 "Eqr t qfr trl:t-fr H t" Er+.q d- '+ l+-s sR-.F eFT R6 $ i
(A) sf (g) 6-{q (c) 3{qrdrdT (o) sfu*pr

B-{



rru. 2
10 ':tfiJT' ?rq.Fl TrqrdT{q- er6E t ?

(A) dFrFR (B) Fap (c) 3{F-far (D) 3'fftrrfr

LL 'fg;ffi1 d ry Jqs?t t ---

(A) d (B) d-gd (c) A-g (D) Fd

L2 "tR gqi?I 
Serer c6df' mr srt t -

(A) F{dr qitr san *ar
(B) (s{t +t sqisr f,ar srsra Ftrfldt
(c) fffrr *n {sd frr san w 6rfr;F-{frI

101 qed fir Erdt +t shq qra *ar

L3 '3Tr*qfr' ?rq EFl ffia fi I
(A) qtffT (B) fr*nd (c) ffinn (D) Er.d

L4 'frtffiaf,r' * rqfudT S

1n1 :rfrlgu-ti 141 ffi (c) q{drs (o) +-trrqrs

15 '1zfirra {rS' *' r-dfudl t -

1ay admg*r$ (B) BqrcF (c) tr{rdf,{rr$l 101 a;tvr+$

16 tara fss lnsr *'+.B S -

(A) 1rqeTlfi'?Trs1(B) ?sure{fu-er51r (c) Tl-fl4rrff alrg.r (D) ffi qnsT

17 r+r€tt;r +.r daitr ffif €rtr q t frts ara t t ?

(n) :nfrmm (B) s{fu-+.rd (c) tlfr-frrdr (01 m.uF-+-om

18 tr?afrfua d t df-f, $Tld'_frrf, t q'F afr t--
lnlEc$rars 1ay *erws (c) ffi (o) lffiara

19 "arf, snsr fq *' c-t Til .iBd ilq" -- qa .ift' lfrs frfr frI t ?

1n) +-drws (B) q{drs (c) Ttrsrqrs (D) nr{s

20 'ffi fr ls{T sfr fi EFar;Fr ri4-d't -

1n) ;r€trcre 1e) Ea€raro (c) dFrEr$ (D) 6-dl{ERT

2L gdmEr€ ga 'rr+aRwar+o' Sr a+rcr H -

(A) 3rErfr (B) Tn (c) dffi (D) s$-fidr
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'FiS fiI qTdY ?nq*' +f,ral ffi ffi -

1ny frffi enur TF, 1e1 Raw (c) qrstrfrrd qgffr (D) glrqr Tqrtr dtoFn

'q1-qpqfl B-g ran fr r+av 6 --
(A) ryrflEq (B) tisorq (c) qtr-fi 6reu (D) d5;Teq

ffifua d'orsrdrdl sE 6td t ?

(A) ar{rrdpr 3rqcil-e{ (s) €A-miea'ia (c) drrrrtfl (D) qfu-dtr

'3T?tr+- t T-dr ftiq *" d-sfr H -

(A) {rqd6 g+d (B) Tdt-flrq (c) +-'eranr {ru (D) e-artrrsrd Eifi

'riq'qqfrary' 6Erff fr tsfi t -

(A) Fr6ra-fr ad' (a) f4-{;< (c) sft-*dza qa (D) rqsi6"{ lrlTrq

'm qFt{' *. rq-drfrR t -

(n) sF=xda .ia (e) a-csi6-{ c-sr6 (c) F{rdI (D) gardl +.arfr d-da

':"v fiI 3{fu +'f{dr t +,B t -

(A) ger-dr y*ft Eif-6ra (B) qruraeilFr q-df4l c1 rrnent F-d frFfi{ 101 ufrndzn va

'wr6rsfi' t ts+'t t

(A) d5a n*'er (a) fffir-{ 1c) 'frara lr+a (D) +ntratq RO

'fidrcirqil'*fs-frS-
(A) fada (B) qelqrtr (c) 3l-fq (D) st'fr4rrdrE'tq'

'lqrrrqf, $t;"IRr t ilu+ 5 -
(A) df;q (s) s'sfi4rcflq 'tur' (c) at* ff,dr (D) ,frara g+-a

'qQfrtrrr TF *. qq-ar+n H -

(A) {rfrtnfr ffi6 'F;r*{
1ay fiffinrrur gu
(c) Efuisnrq 'dqq'
1oy sr+lwf6 iqTLqFr '6fr3lttr'

{?rrrTft R'o ea-w 6't sdr6r fu{ Ttr qr anrffq ar4q6 g{g'n erg 63TI eIT ?

(n) refr {efr(B) srsq"f{ (c) 56sfr (D) qw5rn fir cR-f,r

b-5-
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34 .Qls{ (rfr ffif

(A) sffsq sT-ifr
(B) 3rf,q
(c) 6Rei6-{ q{€€
(o) qrS;q q-drd

t *s6 H ---

35 'atTendr TF t. aqarorr H -

(A) Grrf,r

(B) dq?i+-l trsK
(c) atrr fcar
(D) dfui?Rrq'qoq4'

36 '3ilt1-:itrt'arm t' d-€6 H -

(n) fre-a rrter
(B) trd eilffiq Ers
(c) ae-fr arrrqq Far

1oy +6gs trniio.r

37 dfril, tgg, *;;rs slk qcqraq sTrqd ffi-q anqr qfuEK t d-fr6 t ?

(A) eTrl-ff{ s-$ a+rwr cn:dr
(B) ffi-frqff *nvr qfuar

(c) 3nRp-('flelqrfufr s+tsT qfo{R

(D) qf{5 qfodr

38 ftdI frt s{R-drq dfderrfr d dq 6r rroa{tcl * sq fr $E qr-+arffi z

(A) 14 ffiqr, 19+8

(B) 14Riiqr, rs+9

(c) 14ffisr, rgsg

(D) 14ffiqr, r9S0

39 '3dBfrq-q' erq mT 3ilr$:ra^Ers F -
(A) Rule (B)Sub-Rule (C)Act (D) Law

40 'AFFTDAVIT'?rq *'r C;;* a*dflE t ---

(A) e-rTm-q{ (a)srtca-u-r (c)qfr-Td (D) aFnr-wr

1F.-{
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UNIVERSITY OF HYDERABAD
CENTRE FOR INTEGRATED STUDIES

I.M.A.(LANGUAGE SCTENCE)ENTERANCE EXAMTNATToN,F EBRUARY 2013.
PART-A.OBJECTIVE TYPE QUESTIONS.

(Questions 1 to 40)
Hall Ticket No -----------. Max. Marks: 40

Note Please Answer the questions only on OMR sheet provided to you.

l.Vedas were written in --------
(A) Prakrit (B) Pali (C) Sanskrit (D) Apabhramsa.

2. Portugese is spoken in -----
(A) Haryana (B) Pondicherry (C) Gujarat (D) Goa,Daman &Diu.

3. Constitution of India recognizes---------------languages.
(A)22 (B) 18 (c) 14 (D)26

4. The decimal numeral system that we use today has originated from------
(A) Europe (B) Arab (C) Africa (D) India

5.Geetanjali was written by
(A) Premchand (B) Rabindra Nath Tagore (C) Sri Sri (D) Sarojini Naidu

6. Hindi is genetically related to---------------.
(A)Kannada (B) Telugu (C) Bodo (D)Sanskrit

7. Majority of the languages spoken in Northern,Eastem and North-western India are

also known as--------.
(A)Aryan (B) Dravidian (C) Tibeto-Burman (D) Munda

8. Dakhini Urdu is a language spoken in ----------
(A) Chandigarh (B) Delhi (C) Bombay (D) Hyderabad

9. Language is used for communication by
(A) Dolphins (B Parrots (C) Chimpanzees (D) Human beings

10. When we pronounce the sound'P'-------
(A) upper teeth touches lower teeth (B) tongue touches soft palate.
(C) tongue touches lower teeth (D) upper lip touches lower lip.

I l. Medium of education in Nagaland is----------.
(A) Tenyiede (B) Hindi (C) Angami (D) English

b-{
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12. The Schedule of Indian constitution concerned with languages is--------.(A)v (B)vrrr (c)x (D)x

13. Kalidasa wrote " Abhigyan Shakuntalam" in --------
(A)Telugu (B) Iftasi (C)Hindi (D)Sanskrit

14. The movie 'Black' was made in ---------------.
(A) English (B) Hindi (C) French (D) Spanish

15. Ramayana was originally written in -----------.
(A) Tamil (B) Marathi (C) Sanskrit (D) Hindi

16. Odia is the official language of --------.(A)Odisha (B) Maharashtra (C) Bihar (D)Assam

17. Punjabi is written in ---------
(A) Roman Script. (B) Gurumukhi Script
(C) Devnagri Script. (D) Brahmi Script.

18. Which one of the following languages is not mentioned in the VIII Schedule of
the Indian Constitution?

(A) Kashmiri (B) Bhojpuri (C) Konkani (D) Manipuri

19."He put his foot in his mouth" is an -----------
(A) Phrase (B)Idiom (C)Metaphor (D) Simile

20. Which one of these is not a Classical language?
(A) Sanskrit (B) Telugu (C) Tamil (D) Hindi

2 1 ."Vande Mataram" was Written in-------------.
(A) Telugu (B) Assamese (C) Sanskrit (D) Bangla

22.The English language has -----------articles .

(A) Three (B) Two (C) One (D) Four

23. Sanskrit has -----numbers.
(^) 2 (B) 3 (c) 1 (D) 4

24..Flat and Apartment are
(A) Homonyms. (B) Polysems. C) Antonyms (D) Synonyms

25. Word order in English is ----------
(A) vos (B) vso (c) svo (D) sov

ts-{
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Read the following words from Aztec (Mexican) language and
answer the following questions that follow.

1.[nokali]"my house" 6.[mopelo]"your dog"
' 2.[nokalimes]"my houses" 7.[mopelomes]"your dogs"

3.[mokali]"your house" 8.[ikwahmili]"his comfield"
4.[ikali]"his house" 9.[nokwahmili]"my comfield"
5.[nopelo]"my dog" 10.[mokwahmili]"your cornfield" .

26.In AAec language, the word for omy' is----------------.
(A) mo (B) no (C) i (D) none

27.In Aztec, the word for 'house' is -------------.
(A) kali (B)Wahmili (C) Pelo (D) Mes

28. The plural morpheme in Aztec is expressed as --------
(A) Mes (B) Pelo (C) Mili (D) Kali

29. In Aztec,'mo' means-----
(A)Your (B) My (C) His (D) Her

30. What will be the word for'cornfields' in Aztec?
(A) Wahmilimes (B) Iwahmili (C) Ipelo (D) Nopelo

31. The official Language of Uttar Pradesh is ------
(A)Avadhi (B) Manipuri (C ) Hind (D) Punjabi

32. We refer a Dictionary in order to check
(A)Spelling (B) grammatical Category (C )meaning (D )All the three.

33. In a dictionary, when both the entry words and their definitions are given in the
same language,it is called a --------------dictionary.
(A )Bilingual (B) Multilingual (C ) Monolingual (D ) Learner's

34. [k] is pronounced with the help of ---------
(A) front of the tongue (B ) back of the Tongue (C ) upper teeth (D ) lips.

35. Punjabi is similar to------------
(A )Telugu (B ) Hindi (C )Marathi (D )Bengali.

36. French is spoken in India in-----------
(A ) Pondicherry (B) Lakshdweep (C ) Goa (D ) Daman & Diu.

B-{



37. what is the category of the word 'tall' in the sentence "He is a tall man,'
(A ) Noun (B) Pronoun (C ) Adjective (D ) Verb

38. Devanagari is the name of a---------
(A ) Language (B) Script (c ) place in India (D ) variety of Hindi

39. Etymology deals with the
(A ) source oflanguage (B ) source ofphrases
(C ) source of meaning (D ) source of a word.

40. The Word'Now' refers to------------
(A )Space (B ) Time (C ) Tense (D )Direction

E-{
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UNIVERSITY OF HYDERABAD

I .M. A. TELUGU, ENTRANCE EXAMINATION , FEBRUARY 2013

PART_ A,OBJECTIVE TYPE QUESTIONS

(Questions 1 to 40 )

HallTicket No. ---- Max'Marks : 40

Note : Please answer the questions only on OMR sheet provided to you.

L. dodu6 o"SloJ,reao 6t,io65r5ef o'oJ.:arCo6 -

A. 5o6o B. 6eJ63 C' 65b6 D' ecerEe)6

2. erf;o3 air$o ef gel i>d5o -

A. ilo"555d B. ejdl$al C. 5So D' 4e3;erirel

3. K>g OSi>g $of Sr$5oe9o6 o.€.ea$De.urler $ow"$;5$oevO -

A. Qao6o B. $rifs$5o C' q8ifiro D' Q9o'eeo

4. ,$$;od:6: ero$ $rif srdei d6,$ey SalaSoa -

A. earear,$6o$ld.r B. veoJ.rea dBD C' Sc5dp D' d$a;'"eodr

5. $reSQo"eSB 5De35o 6b3a4,$ o1>c1o-

A. $,$;ob qlDrlo B. e$ss olDrlo c. Bao6 ollrlo D' 856$ ojDrlo

5. a$e9{r}do dOot)$;rdr -

A. sl)Sdrd) B. o55i5d:dr

O. $Be$r,S boduc'"do5d;c. $urlro3 Rf$:s6od>

B-f
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7. c 5Se35oan $aei> Sg"exJA el,$1 SS -

A. $3J$dlCr B.8u6,ldr C. eo6re.D D. r"dS$ *pfrS

8. b.eal efs soa -

A. il$d68o B. rlreao C. oJocrd€o D. X>dd:"iro€e rD

e. 6$gFiD - e'oe3

A. S;r) B. $i)) c. 6;) D. ede.D

10. be3: - eoSO be31€gr$3 -

R. co566,s - bg$*so B. bo65r - bsstsso

C. ab - bSS*So D. a5elo1l eriru$si,$o

LL. 2,4 $o"eref acc$ iud5deee.Dod do6il bd: -

A. 60lne3 B. 5o65> C. er0rEe)6 D. e3dr$al

12. q6 irg:rlurer:od,ioai>,$Sr Gtyirdea -

A. €e3)eli:ee.r B. csoirsire) c. bxlrl D. so6$r>

13. er65.r$6'or $dx>$;r;$.r $sgusgoa SocmO - "e6 b xr65$6o -

A. s.ro"555d B.5biD c. ddr$al D. iroog:oei

14. 63 e,C5o03 el$r;e3Sl e$SoC,t SSd5$l elb - eo60 eleroydo

A. eb$) B. 65$oei c.6bg D. J.6

15. 5irer.6: ,$05o6: SdS>eD Sdir:eD - qo60 exlosdo

C. erd.:$ O. u$ob

c. trgQra D. s,Srsod v6o.a

A. .Sssrls B. e*r,$r$s c. ercug$.:$ir D. $Jg6$o"r)

16. n 05 6s'et e5,$ydl -

A. c€d6 B. bpd

17. rX$O rf:Cb tl5,5$e)o"b,5y6 -

A. eloo cparcJor B. g6$Oe
'o?)d
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18. 300$0 s$,s$er 6c5ard -

A. rse)o e. ffbdso5 C. $65s6 D. e,$J$

19. €.9o6 $c$5ef "a$d$ d6ol$ -

A. sob10 b66 B. e.,gn C. $oo6dQ9 E $$e3 o. eg$5 ear656

20. ea SJd)f erS arodsrs5 dc5oueS -

A. 5. ;v. d. B. 6bo$ 6dg C. S€5u6 D. r:no$$u:

21. rbe:reD sOtfeb;r;or elS s$5 s$ -

A.dorSars; B. be55r5o66 c. e$$d6

22. EoCSoSoo €'r S$e35ap$ 6o6$6 -

A. c5€6;v6 B.5ocs C.5>3o;yci D.3yeLlv6

23. el5g poDseJo1lodr bir,$p$ ee$)o"rIorIs so$$d) -

A.66CJ B. o.Xr5reDd) C.6J€'rdr D.69rud.1

24. bS'di::Sdrea bC elS 6b5,$udr -

A. d$dre3 B. 6'aud.: C. erO$$ rbQ)dr D. iroCeieoJoeD

25. *or5 sr:gr&P B655 s65o 6b),$ gD -

A. $o6E$rg$ B. e$.:ear drbeard.l C. b6$ D.3p6od.>

26. ?i>5dl - 653 D$a

A. 35:5d,r B. atu€) c.,Sbt D. c$frdr

27. e$u3) - etoe3

A. eg B. slsrr>; c. $os D.alle

28. ero$;bXfeJPd@S) (prQdir$udr -

A.,6,5yo:r B. Jg,$ C. SS6.i D. ifQJ$

D.rt66
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29. SO e6iD - $oO 6Qo6

A. Srl6iD B. Si$66SD C. $r1)e)6S}) D. $rteJ6SD-o45r)0r)0clo

30. eroSsolrg ielg Sg -

A. eeC6oArdSS

C. $ro6f;rbr6$S$

B. sbre.ril96ifgsJ5$

o.!s196$eoJreD

31. er\ A;$rb.3$ $$i>ul -

A. 56 B. 36 C. 40 D.55

32. Srl$:i66 56 bs$5oey eoa

A. 3$e$ ar:ferlno B. $odrdorl ir:t'e3gno

C. fue3v,ier irXfefg'o o. ! sv+!65d srilselgno

33. Surrtr E6)e5 d;rs Ocsouel -

A. E.Js. o* B. {triIe3 6eair3

C.6SIO tlsred; D. d@trau S)*$)Pq

34. S e*tr5e5o6 g' d r>soc - er,$1 )er eirsvo

A. er$;$o1r5 B. e5tlo:05 C. €$o:r5 D.e$rei>

rs. $be95 RP$;ve.D erS $o6 dslord -

A. gB$oA ei:Oorndf B. SoclrSro SdtOorto

C.6o5$ Eo5el$e$ D. s58 tr$r $dSoiro

36. ardelo5.l ererosd a$docrexf e50 So6o -

A. so566;o B.65u5ef5o

L2

C.6ogi.ef5o D. ue.l5z"$o

B-{
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37. 6aS su5esurr 585s;ucl -
A. ;r$l,Srdr B. i:$&e.Ddr C. 661e.udl D.66eDd)

38. y66 5$e35$$o er$ o,$yudr-

A. ercbd B. 3 A c. €3ro@ D. b. u. 6.

39. CI"eX€(Si"a{.$o cJaoo$ocir -

A. $ess ffcoa* B. $ag borr,i c. 6lbbo csrd.t D. ff6.$

40. u5$xfoS ar$'a5fr J"OO-

A. 5oc3:5rO B. SQiroO C. au6eay D. ndJrt)g)

B-{
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UNIVERSITY OF HYDERABAD

M.A TNTEGRATED ENTRANCE EXAMINATION (URDU) FEBRAURY 2013

Part-A: Objective TYPe Questions

(Question 1----40) Max Marks: 40

Hall Ticket No.

Ptease Answer the Questions Only in OMR Sheet Provided to you

1 g A5 t!,-, E €- q 4 Q : 7 t?. t ! L t) tvtt &, J:

t-7dr',.ti,,{Lc)?htV,tb -1

:yLp(D) v6f Pl rjr,Ctal rj,,(n)

t7V.ct*r,/v.f'-!" -2

t/-:4Vt1 (D) &'<,-frutc1 ]:4a-o(B) rj4)\A)
t,4c/SeL"c)t/.f"6P -3

tJv,t';a\a) r&rtcl tt'r<a) JVu*6)

V'?LL6t t2+c)/otU:f1cltL:tlts -4
c;(ii/ (D) g:L'|4,n\c) (f <a) dJrfipngl

r4Ltte-/t$$t t -5

tl tol itcl ,b(B) ,r(A)

tq,r?LL;r,,{,!O,r0,ryifu -6

,Fp) 6t'G) 6?Fl Jrtal

-{4-Nqv/f;t -7

{,!6------Ltrt!;v
7 6 ,! =( 4,,J.t

c)( P) /tcl ,->n(B) i[al
r7u{/Oc/-&ut -8

6,ll,t/,6@) /6 (c) Jltrtel &Q1mi)

rL-oglrL'vyrt{rVAtf -9

/,(D(D) ,:tff pl .,l41s) ,ht6)

-70,rotr?,,{Ora4r*,,57 -10

:tLp(D) td <cl $,:ip1 ul,.,(n)

B-{



r*t,tuti/ J.:y
z"(C) -( @) j!'(a)
\4{{/t-r'$,)t6,{/

tyt(c) $,,rtG1 )46,1

-11

-12

15
.>u(D)

h't(D)

,5flry&rol

v{6/-,,td'(D)

/
-LtJ.,/4t" (D)

4{''{f, -13

tthQl":,c<QteUV.z-tV

uVrcl*r,{clt,I,#(
t5.,,/,'fsrypy JFr.b13) /E(A)

r-7/,!re/'=,i{gt" -14
,uintf G) O,U|,/.P fel JFu*6)

tsft g/,rtf.r.'tLLgWn -1 5

:r:T$p;g) 6t(Vy,t) 1bry1a1
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41.

UI]-IVERSITY OF HYDERABAD

CENTRE FOR INTEGRATED STUDIES

I.M.A., ENTRANCE EXAMINATTON, X'EB 2013

HINDI/LANGUAGE SCIENCES/TELUGUruRDU

PART-B: ENGLISH, OBJECTIVE TYPE QUESTIONS
(Questions 4l to 75)

NorE: Answers must be marked only on the oMR sheet provided.

It is necessary to use soaps that can check the gror,vth of bacteria.
Here, the meaning of the word "check" is:

A) investigate
B) restrict
C) encourage
D) study

My father is very indulgent. He lets me stay awake at nights, and never forces me to do
my homework.
Here, the meaning of the word "indulgent" is:

A) loving and tolerant
B) strict and mean
C) stupid and kind
D) luy and sleepy

she was well aware of the difficulties that had to be surmounted.
Here, the meaning of the word o'surmounf is:

A) overcome
B) overtake
C) overlook
D) overhear

42.

43.
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44. 'Keep out of this. It's between me and my friend.'
This is not a:

A) question
B) warning
C) request
D) command

Choose the right word and fill in the blanks. (euestions 4S-4g)

The train will reach the station
A) in
B) at
C) on
D) near

12.30 pm.45.

46.

47.

49.

I have been waiting outside the office
A) for
B) before
C) since
D) from

A) hence
B) therefore
C) so
D) since

Mohan went to bed early

A) so
B) but
C) thus
D) because

You can go swimming

A) whereas
B) while
C) however
D) but

l0am.

it is a long joumey, you should cilry enough water with you.

he worked all day in the town.

I am having lunch.
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50.

51.

54.

55.

52.

53.

choose the right sentence from the choices given below. (euestions s0-51)

A) Srikanth is cooking now. You have to wait for some time.
B) Srikanth was cooking now. You have to wait for some time.
c) srikanth has been cooking now. You have to wait for some time.
D) Srikanth had been cooking now. You have to wait for some time

A) I had broken my hand. Look at the bandage.
B) I have broken my hand. Look at the bandage.
C) I broke my hand. Look at the bandage.

D) I am breaking my hand. Look at the bandage.

Which of these word forms is not acceptable? (euestions 52-53)

A) Calmly
B) Slowly
C) Angrily
D) Fastly

A) Unpredictable
B) Unusual

C) Unconvenient
D) Unsocial

Which of the words has a positive meaning?
A) Intolerant
B) Invaluable

C) Insecure

D) Invisible

Which of the expressions is not correct?

A) Black sheep

B) Black lie
C) Blue eyed

D) Green horn

b-{
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57.

Pick out the odd set

A) Bowl - bowler
B) Sing - singer
C) Run - nulner
D) Cook - cooker

Choose the right option to fill in the blank.

She is in town,

A) isn't she?
B) is she?
C) hasn't she?
D) isn't it?

Choose the right meaning of the following sentence from the options given below.

"He killed two birds with one stone when he went to his hometown for a
meeting".

A) He achieved two things at the same time with one action.
B) He killed two birds and ate them with his family.
C) He did not succeed in getting his work done when he went home.
D) He liked killing birds.

'I wish I could help you.'

This sentence expresses:

A) regret
B) complain
C) improbability
D) satisfaction

Choose the expression that is odd in this set.

A) Nose around
B) Head start
C) Cold feet
D) Massive heart

58.

59.

60.
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Fill in the blanks using the best choice (Questions 61-63).

61. We need to make sure that the delegates have

A) average
B) mild
C) decent
D) wholehearted

62. Could you please give me

accommodation.

ofevents?

A) a careless account of
B) an accurate account of
C) a fearful account of
D) an indifferent account of

63. I don'tknow him well. He'sjust a acquaintance.

A) damaging
B) dangerous
C) casual
D) unknown

64. Choose the right sentence.

A) I am having exams every weekend.
B) I was having exams every weekend.
C) I have exams every weekend.
D) I had been having exams every week end.

65. Pick the right ending.

We have dropped the idea of going on a vacation,
A) haven't we?
B) have we?
C) isin't it?
D) is it?

Choose the right sentence. (Questions- 66-67)

66. A) They got a good advice from the student counselor.
B) They got good advices from the student counselor.
C) They got some good advices from the student counselor.
D) They got good advice from the student counselor.
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' 67. A) There are not many informations about the test.
B) There is not much information about the test.
C) There is not much informations about the test.
D) There are not many information about the test.

Read the sentences below (questions 68-69) and state which conveys the given meaning
best.

68. "Both men and women are old."

A) Old, men and women.
B) Old men, and women.
C) Old men and, women.
D) Old men and women.

69. He eats both "shoots" and "leave."

A) Eats shoots and leaves.
B) Eats, shoots and leaves.
C) Eats shoots, and leaves.
D) Eats shoots and, leaves

70. Choose the correctly punctuated sentence.

A) She said, "staying in the hostel is difficult."
B) She said "staying in the hostel is difficult."
C) She said, staying in the hostel is difficult.
D) She said staying in the hostel is difficult.

Choose the right spelling (questions 7l-72)

71. A) Immediately
B) Immediatly
C) Immedately
D) Imediately

72. A) sychology
B) Pychology
C) Psycholgy
D) Psychology
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73. Which is the right sentence?

A) Which dictionary shall I look it up in?
B) Which dictionary shall I look it?
C) Which dictionary shall I look up it?
D) Up in which dictionary shall l look it?

Look at the two sentences in each of the questions (questions 74-75),andchoose which is
righr

74. i) He has lost his trouser.
ii) He has lost his trousers.

A) i)
B) ii)
C) both D and ii)
D) neither i) nor ii)

75. D The sheep arc grazing
ii) The sheeps arc gazing.

A)D
B) ii)
C) both i) and ii)
D) neither i) nor ii)

'f**
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I.M.A., ENTRANCE EXAMINATION, FEBRUARY, 2013

HrN Dr/ LANGUAGE SCTENCES/TELUGU/URDU

PART - C: GENERAL KNOWLEDGE AND CURRENT AFFAIRS
(Questions 76 to 10O)

Hall ncket No. Max. Marks: 25

Note: Please answer the questions only on OMR sheet provided to you.

Who among thb following is the author of a collection of poems "The Golden Threshold"?

A) Sarojini Nadiu
B) Aruna Asaf Ali
C) Annie Besant
D) Vijayalakshmi Pandit

The novel 'White nger'which won the Booker Prize 2008 is authored by

A) Kiran Desai
B) V.S. Naipaul
C) Arundhati Roy
D) Aravind Adiga

National Education Day is observed on

A) 11th November
B) 14th November
C) 5th September
D) 21't May

Kuchipudi is a dance form associated with the State of

A) Odisha
B) Andhra Pradesh
C) Manipur
D) Assam

Who is the Chief Election Commissioner of India?

A) Harisankara Brahma
B) S.Y. Khureshi
C) B.K. Handik
D) V,S, Sampat

76.

77.

78.

79.

80.
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81. Which Indian Bollywood actress was appointed as International Goodwill Ambassador for the
United Nation programme on HIV/AIDS (UNAIDS)?

A) Aishwarya Rai

B) Katrina Kaif
C) Kareena Kapoor
D) Vidya Balan

India's largest museum is located at

A) Kolkata
B) Delhi
C) Bengaluru
D) Chennai

Which of the following awards is given for excellence in Literature?

A) Jnanpith Award
B) Dhanwantri Award
C) Dada Saheb Phalke Award
D) Borlaug Award

'Satyameva Jayate'in the Indian emblem is taken from

A) Rig Veda
B) Bhagavad Gita
C) Mundakopanishad
D) Matsyapurana

Who wrote the popular patriotic song'Sarey Jahan Se Accha Hindustan Hamara'?

A) Ghalib
B) Dr. Iqbal
C) Chakbast
D) Firaq

In which year the Sepoy Mutiny occurred?

A) 18s7
B) 1947
c) 1900
D) 1902

Which Moghal Emperor built Taj Mahal?

Akbar
Babur
Shahjahan
Bahadur Shah Zafar

82.

83.

84.

87.

A)
B)
c)
D)
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88.

89.

90.

91.

92.

93,

94.

To which profession earlier leaders who struggled for freedom of India mainly belonged?

A) Lawyers
B) Teachers
C) Journalists
D) Doctors

Which of the two of the great Moghals wrote their own memoirs?

A) Babur and Humayun
B) Humayun and Jahangir
C) Babur and Jahangir
D) Jahangir and Shahjahan

Golden Temple is situated in

A) New Delhi
B) Agra
C) Aurangabad
D) Amritsar

The world famous'Khajuraho'sculptures are located in

A) Gujrat
B) Madhya Pradesh
C) Odisha
D) Tamil Nadu

Which is known as'Garden City of India?

A) Chennai
B) Begaluru
C) New Delhi
D) Cochin

Which is the fastest land animal?

A) Lion
B) Deer
C) Cheetah
D) Fox

What is the dominant language of Kerala?

A) Kannada
B) Telugu
C) Tamil
D) Malayalam
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95,

96.

97.

B)
c)

Which award is given for excellence in Sports?

A) Jamna Lal Bajaj
B) Bhatnagar
C) Afiuna
D) None ofthese

In which country, pyramids are located?

A) Russia
England
Egvpt

D) Iraq

How many rings are there in the Olympic Flag?

A) Four
B) Two
C) Five
D) Ten

'Bibi Ka Maqbra'which resembles Taj Mahal is built in

A) Kashmir
B) Bijapur
C) Aurangabad
D) Hyderabad

Urdu is a word of

A) Arabic
Persian
Turkish

D) Sindhi

Ajanta and Ellora Caves are situated near

A) Ajmer
B) Mumbai
C) Bhubaneswar
D) Aurangabad

99.

B)
c)
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